Pre-Calculus Unit G (Chapter 5) Review sheet Name IAQ fi
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2. Solve sin x — sin? x = 0 on the interval [0, 27).
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5. If csc 0=~ on the interval (270", 360°), find tan 6.
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7. Ifcsc 0= —; on the interval (‘II , %n), find the exact value of tan 20.
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8. Solve 2 sin x — v/3 = 0 on the interval [0, 2r).
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9. Find the exact value of cos 67.5°. : e = J_z—/ﬁ__‘ m
56 4 fos - ] L e =z = —_—
oS -'_%_2 - 2 7 % 2
2-42 2+42Z 2-+2 2++2
FZ/ 2 G][ 2 H= 1=
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11. Simplify csc & — cot € cos 6.
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14. Solve on the interval [0, 21): cos26+2cos” 8 =0
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13. Find the exact value of




15. Solve on the interval [0, 27): cos@sin28 =0
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16. Verify: ——= b = cot?6.
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17. Tf cos 6 = § on the interval (32—" Zn) . find the exact value of tan 26,

e O @
1—(%3)2’

W

| i

L 0N

18. Solve tan x —+/3 = 0 on the interval [0, 2m). !
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For 20-22, Find all solutions on the interval [0, 2m).
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21. sin® x—sinx+1=cos’ x
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For 22-25, Find the exact value of each trigonometric expression.
sia (’ns"— ?o">

23. COS-S—ﬂ ca{(&_’% .’1> 24. sin (1950)
(uC(j;K -, E) s L s 30" - oS 2L’ 50,30
3 4

(0§ sti ¢ st L-:{,MT (%)(ﬁi) - C%)(’IZB
)(r‘ (“ (“) &l
(+

~(z_
=
25. tan 345° 55
Lf

f&'/\ 60001' 58 >

1un 300" + fen Y5

./’ foan 00° fea 2"
-3 x| (|_r%>
) (-0

,—6 F{,‘{{:-k’ _B
| -45

- 203 +y4
=2

iw’s—z [



